Addition Subtraction Multiplication Division
Children will continue to use empty number lines with Children will continue to use empty number lines with Children will continue to use:
increasingly large numbers, including compensation where | increasingly large numbers. v Repeated addition Ensure that the emphasis in Y3 is on grouping rather than
appropriate. 4 times6 is 6+6+6+6=24 or 4lotsof 6 or 6x4 sharing.
Children will begin to use informal pencil and paper methods Children should use number lines or bead bars to support their
v Count on from the largest number irrespective (jottings). understanding. Children will continue to use:
of the order of the calculation.
v Partitioning and decomposition 6 6 6 6 v Repeated subtraction using a number line
sovmseize o Partitioning - demonstrated using arrow cards /\/\/\/\
o o Decomposition - base 10 materials o 6 12 18 24 Children will use an empty number line to support their calculation.
— A 6 6 6 6 24:4:2¢
o e m = NOTE When solving the calculation 89 - 57, children should 0000000000 - OO 0eee—
know that 57 does NOT EXIST AS AN AMOUNT it is what L, Arrays P WAV Wl Wl N
you are subtracting from the other number. Therefore, when ¥ ° 4 8 b * = 2
v Compensation :f‘m%gase 10 materials, children would need to count out only Children should be able to model a multiplication calculation using Children should also move onto calculations involving
. e o an array. This knowledge will support with the development of the remainders.
»emrm - grid method.
g = 80 + 9 B3=4=3r1
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Children will begin to use informal pencil and paper ANEEEEEN
e . . v i
methods (jottings) to support, record and explain partial v Begin to exchange. O9x4z36 Usmgl symbols To stanfi f?r unknown nun‘\bers to
mental methods building on existing mental strategies. complete equations using inverse operations
o= =
Adding the least significant digits first = v Scaling 26+-2=0 24=n=12 H+10=8
e.g. Find aribbon that is 4 times as long as the blue ribbon
9 9
67 267 Step 1 700+ 1
+ 24 + 85 s
1L( 7+ 4) 12 (7+5) skpz 60 ] The calauation should be o e ————
B0 (60+20) 140 (60 + 80) T read as eq. toke & From L, Sem 20 cm
_ 91 200 20+ 5= 2§
__352 This weuld be recorded by the childnen as v Using symbols to stand for unknown numbers to
2o complete equations using inverse operations
San . s Ox5=20 3xA=18 Ox0=32
20 « 5 =25
v Partitioning
Where the numbers are i.nvolved in the calculation' are closg 38 x5= (30 x5) + (8 x 5)
together or near to multiples of 10, 100 etc counting on using a =150 + 40
number line should be used. =190
10z-89=13
+10
+1 +2
90 100 102




Addition Subtraction Multiplication Division
v Carry below the line. v Partitioning and decomposition Children will continue to use arrays where appropriate leading into Children will develop their use of repeated subtraction to be
the grid method of multiplication. able to subtract multiples of the divisor. Initially, these
625 783 B should be multiples of 10s, 5s, 2s and 1s - numbers with which
+ 48 + a2 + | : 7:: - the children are more familiar.
Y4 <3 T - % e i 4 7246
Step 1 700 + B0 + 4 ] N
- 80 + 6 88888888888888 (6 10) + (6 x 4) 2 5 8 5 5 5 5 5 5 5 5 5 5 5 5
Using similar methods, children will: Step 2 00 + 40 + 1 fodhust Fram Tto U o 8888%88888 8 60 + 24 D 2 7 12 17 22 27 32 37 42 47 52 57 62 &7 72
v add several numbers with different numbers -8 - ¢ OO0 OOOOOOOOOOO B4 Mo ent: .50
of digits; Stepd 600 £ 140 + 14 fadjust from £ o T OOOOOOO0O0; 0000 AR
v begin to add two or more three-digit sums of - el 4 8 0z 72 e . 72
money, with or without adjustment from the 600+ 60 + & = 668
pence to the pounds; Then onto the vertical method:
v

know that the decimal points should line up
under each other, particularly when adding or
subtracting mixed amounts, e.g. £3.59 + 78p.

Thiz would be recorded by the children as

140

o SN

- 80 + 6
600 + 60 + 8 = A68
v Decomposition
141
794
- 86
668
Children should:
v be able to subtract numbers with different numbers
of digits;
v using this method, children should also begin to find

the difference between two three-digit sums of
money, with or without adjustment’ from the pence to
the pounds;

v know that decimal points should line up under each
other.

£8.95 = 09 + 005
-f4.38 -4 + 03 + 008

Isading o

1
{edjust From T to 4) 8.85
-438

= B + 08 + 0I5
03 + 008
0.07

IS

= £4.67

v 6rid method

TU x U

(Short multiplication - multiplication by a single digit)
23 x8

Children will approximate first

23 x 8 is approximately 25 x 8 = 200

x 20 3
8 160
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Short division TU + U
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Answer 24

Leading to subtraction of other multiples.

96+ 6

Answer :

16

Any remainders should be shown as integers, i.e. 14 remainder

2orl4r2.

Children need to be able to decide what to do after division
and round up or dowh accordingly. They should make sensible
decisions about rounding up or down after division.




